

1, 2, 3 - se TB.

4. a) Kpt. b) öppen, ej slutet c) Kpt. d) öppen, ej bärg.

5. $f(x, y) = ye^x - x^2y^2$, $D = \{(x, y) : 0 \leq x \leq 1, 0 \leq y \leq 2\}$

i) $0 < x < 1, 0 < y < 2 : \nabla f(x, y) = (ye^x - 2xy^2, e^x - 2xy) = (0, 0)$

$\Rightarrow \begin{cases} y = e^x \\ 2x = 1 \end{cases} \Rightarrow \begin{cases} x = 1/2 \\ y = e^{1/2} \end{cases}$

$(Hf)(1/2, e^{1/2}) = \begin{pmatrix} ye^x & e^x - 2xy \\ e^x - 2xy & -2x \end{pmatrix} = \begin{pmatrix} e^{1/2} & -e^{1/2} \\ -e^{1/2} & -1 \end{pmatrix}$
 $(x, y) = (1/2, e^{1/2})$

$\Rightarrow (1/2, e^{1/2})$ lokalt max, $f(1/2, e^{1/2}) = \frac{1}{2}e^{-1} < 2$ $\left\{ \begin{array}{l} n=0, \text{ def.} \end{array} \right.$

ii) $x=0, y=t, 0 \leq t \leq 2$

$g(t) = f(0, t) = t$ $\text{Min} = 0 (t=0)$ $\text{Max} = 2 (t=2)$

iii) $x=t, y=0, 0 \leq t \leq 1$

$g(t) = f(t, 0) = 0$ $\text{Min} = \text{Max} = 0$

iv) $x=t, y=t, 0 \leq t \leq 1$

$g(t) = 2e^t - 4t$ $g'(t) = 2e^t - 4 = 0 \Rightarrow e^{t_0} = 2$

$\Rightarrow t_0 < 0$
(ej tillåtet)

$g(0) = 2$ $g(t) = 2e^t - 4 < 2$

v) $x=t, y=t, 0 \leq t \leq 2$

$g(t) = f(1, t) = te^t - t^2$ $g'(t) = e^t - 2t = 0 \Rightarrow t = e^{-1/2}$

~~g(0) = 0~~ $g(2) = 2e^1 - 4 > 0$

$g(e^{-1/2}) = \frac{1}{2}e^{-1/2} - \frac{1}{4}e^{-1} = \frac{1}{4}e^{-1} < 2$

~~Max = 2~~
~~Min = 0~~

Max = 2
Min = 0

6. $M_1 = \{(x, y, z) : z = f(x, y)\}$, $M_2 = \{(x, y, z) : z = (2 + f(x, y))^2\}$

Tangentplan: $\frac{\partial f}{\partial x}(0,0) \cdot x + \frac{\partial f}{\partial y}(0,0) \cdot y - z = 0$

Tangentplan: $2 \frac{\partial f}{\partial x}(0,0) (2 + f(0,0)) \cdot x + 2 \frac{\partial f}{\partial y}(0,0) (2 + f(0,0)) \cdot y - (z-4) = 0$

$2a \cdot 2x + 2b \cdot 2y - (z-4) = 0$

$4a \cdot x + 4b \cdot y - z = -4$

11. $f(x) = \frac{1}{\sqrt{x}}$

$f'(x) = -\frac{1}{2} x^{-3/2}$

$f''(x) = \frac{3}{4} x^{-5/2}$

$x \cdot f'(x) + f(x) = 0$

$x \cdot \left(-\frac{1}{2} x^{-3/2}\right) + \frac{1}{\sqrt{x}} = 0$

$-\frac{1}{2} x^{-1/2} + \frac{1}{\sqrt{x}} = 0$

$-\frac{1}{2\sqrt{x}} + \frac{1}{\sqrt{x}} = 0$

$\frac{1}{2\sqrt{x}} = 0$

$\frac{1}{2} = 0$

$a = 1$

2. $\frac{d}{dt} f(\cos \theta, \sin \theta) = f(\cos \theta)$

$a \cdot (-\sin \theta) + b \cdot \cos \theta = a \cos \theta$

$-a \sin \theta + b \cos \theta = a \cos \theta$

$-a \sin \theta + (b-a) \cos \theta = 0$

03 f $\frac{d}{dt} f, f(\cos \theta) = 0$, $\frac{d}{dt} f$ fällt

$f(\cos \theta, \sin \theta) = (a \cos \theta + b \sin \theta) \cdot t + \theta r^2$

für neg. konstanter a, b - Motzelsa!